



U.G. DEGREE EXAMINATION — 
JANUARY, 2009.

(AY 2004–05 batch onwards)

Third Year
B.C.A.
MANAGEMENT PRINCIPLES AND TECHNIQUES

Time : 3 hours
Maximum marks : 75

Answer for 5 marks question should not exceed 
2 pages.

Answer for 10 marks questions should not exceed 
5 pages.

PART A — (5 ( 5 = 25 marks)

Answer any FIVE questions.

1. What are the limitations of O.R models?

2. Discuss Scientific method in O.R.

3. Explain the formulation of Linear Programming Model.

4. Discuss about Transportation Problem Procedures.

5. Explain the procedures in PERT/CPM.

6. Discuss about Replacement situations.

7. Explain about Group Replacement policy.

PART B — (5 ( 10 = 50 marks)

Answer any FIVE questions.

8. Solve the following LPP Graphical method

Maximize 
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9. Solve the following LPP by Simplex method

Maximize 
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10. Solve the Transportation problem by Vogels method and Modi method 

Destination

	
	
	1
	2
	3
	4
	Availability
	

	
	1
	21
	16
	25
	13
	11
	

	Sources
	2
	17
	18
	14
	23
	13
	

	
	3
	32
	27
	14
	41
	19
	

	Requirement
	
	6
	10
	12
	15
	43
	


11. Assign four Trucks 1, 2, 3 and 4 to vacant spaces 7, 8, 9, 10, 11 and 12 so that the distance travelled is minimized. The matrix below shows the distance.

	
	1
	2
	3
	4

	7
	4
	7
	3
	7

	8
	8
	2
	5
	5

	9
	4
	9
	6
	9

	10
	7
	5
	4
	8

	11
	6
	3
	5
	4

	12
	6
	8
	7
	3


12. A project schedule has the following characteristic

	Activity
	Time

	1–2
	4

	1–3
	1

	2–4
	1

	3–4
	1

	3–5
	6

	4–9
	6

	5–6
	4

	5–7
	8

	6–8
	1

	7–8
	2

	8–10
	5

	9–10
	7


(a)
Construct the network.

(b)
Compute TE and TL for each event.

(c)
Find CRITICAL PATH.

13. Explain the Dual Simplex algorithm in detail.

14. The cost of a machine is Rs. 6,100 and its scrap value is Rs. 100. The maintenance costs bound from experience are as follows

	Year
	1
	2
	3
	4
	5
	6
	7
	8

	Maintenance cost (Rs.)
	100
	250
	400
	600
	900
	1200
	1600
	2000


When should the machine be replaced?

——–––––––––

	UG–429	BCA–18











PAGE  
4

UG–429

_1290432173.unknown

_1290432235.unknown

_1290432261.unknown

_1290432161.unknown

